..DID: 740

..TXT: PSC NO: 87 GAS STATEMENT TYPE: NGV

COMPANY: NEW YORK STATE ELECTRIC & GAS CORPORATION STATEMENT NO: 5

INITIAL EFFECTIVE DATE: 07/01/97

STAMPS:

Cancelled by Statement NGV Number 6 Effective 08/01/1997

RECEIVED: 06/26/97 STATUS: Cancelled EFFECTIVE: 07/01/97

STATEMENT OF NATURAL GAS VEHICLE RATE

July 1, 1997

#### Owego District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	-	Floor per	per Ga	al.	Cei per	pe	Rate- r Gal		-Gas	Veh: er	icle pe	latura Rate er Ga	e- 1.			
		Therm	Equivl	nt	Therm	Eq	uivln	ıt	Th	erm	Eq	[uivli	nt			
Category	1A	\$0.703	336	\$0.80	2	\$1.0	7173		\$1.	222		\$0.90	0892		\$1.	036
Category	1B	\$0.703	336	\$0.80	2	\$1.5	5306		\$1.	771		\$1.1	5977		\$1.	322
Category	1C	\$0.703	336	\$0.80	2	\$0.9	8066		\$1.	118		\$0.8	7934		\$1.	003
Category	2A	\$0.723	370	\$0.82	5	\$1.0	7173		\$1.	222		\$0.92	2926		\$1.	060
Category	2B	\$0.723	370	\$0.82	5	\$1.5	5306		\$1.	771		\$1.18	8010		\$1.	346
Category	2C	\$0.723	370	\$0.82	5	\$0.9	8066		\$1.	118		\$0.89	9967		\$1.	026
W I	Т	Н		С О	М	Р	R		E	S	S	I	(	0	N	:
Category	3A	\$0.597	780	\$0.68	2	\$1.0	7173		\$1.	222		\$0.76	5438		\$0.	872
Category	3B	\$0.597	780	\$0.68	2	\$1.5	5306		\$1.	771		\$0.8	7781		\$1.	001
Category	3C	\$0.597	780	\$0.68	2	\$0.9	8066		\$1.	118		\$0.72	2095		\$0.	822
W I T	г н	O U	Т		С	0	М	Р	R	E	S	S	I	0	N	:
Category	3A	\$0.57	746	\$0.65	8	\$1.0	7173		\$1.	222		\$0.74	4404		\$0.	848
Category	3B	\$0.57	746	\$0.65	8	\$1.5	5306		\$1.	771		\$0.85	5748		\$0.	978
Category	3C	\$0.57	746	\$0.65	8	\$0.9	8066		\$1.	118		\$0.70	0061		\$0.	799
Category	4	\$0.72	370	\$0.82	25	\$1.0	7173		\$1.	222		\$0.9	2926		\$1.	060

STATEMENT TYPE: NGV

STATEMENT NO: 5

PAGE: 2

### STATEMENT OF NATURAL GAS VEHICLE RATE

July 1, 1997

# Goshen District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

		Floor per Therm	Rate- per Ga Equiv	al.		iling r	Based Rate er Ga Guivl	1.	-Gas	icab Veh er nerm	icle per	atura Rate r Gal ıivln	- • •			
Category	1A	\$0.53	631	\$0.6	512	\$1.	11119		\$1.	267	S	\$0.94	246		\$1.0	075
Category	1B	\$0.536	631	\$0.6	512	\$1.	55306		\$1.	771	S	\$1.15	977		\$1.3	322
Category	1C	\$0.536	631	\$0.6	512	\$0.	98436		\$1.	122	Š	\$0.88	267		\$1.0	006
Category	2A	\$0.55	662	\$0.6	35	\$1.	11119		\$1.	267	Š	\$0.96	277		\$1.0	098
Category	2B	\$0.55	662	\$0.6	35	\$1.	55306		\$1.	771	Š	\$1.18	800		\$1.3	346
Category	2C	\$0.55	662	\$0.6	35	\$0.	98436		\$1.	122	Š	\$0.90	298		\$1.0	030
W I	Т	Н		С	O 1	I :	P I	R	E	S	S	I	C	)	N	:
Category	3A	\$0.47	559	\$0.5	542	\$1.	11119		\$1.	267	S	\$0.73	866		\$0.8	842
Category	3B	\$0.47	559	\$0.5	342	\$1.	55306		\$1.	771	Š	\$0.87	779		\$1.0	001
Category	3C	\$0.47	559	\$0.5	542	\$0.	98436		\$1.	122	Š	\$0.69	550		\$0.7	793
r i w	Н	O U	Т		С	0	М	P	R	E	S	S	I	0	N	:
Category	3A	\$0.45	528	\$0.5	19	\$1.	11119		\$1.	267	S	\$0.71	835		\$0.8	819
Category	3В	\$0.45	528	\$0.5	519	\$1.	55306		\$1.	771	S	\$0.85	748		\$0.9	978
Category	3C	\$0.45	528	\$0.5	19	\$0.	98436		\$1.	122	Š	\$0.67	519		\$0.7	770
Category	4	\$0.55	662	\$0.	635	\$1.	. 11119	)	\$1.	267	;	\$0.96	277		\$1.0	098

STATEMENT TYPE: NGV

STATEMENT NO: 5

PAGE: 3

### STATEMENT OF NATURAL GAS VEHICLE RATE

July 1, 1997

### Lockport District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

Per Therm   Per Cal.   Per BequivInt   Per B			Floor	Rate-					Base Rat			icab Veh						
Category 1A			per	per G	al.	pe	er	p	er G	al.	E	er	pe	r Ga	1.			
Category 1B	Ca + a crass			_			ici iii										ė 1	101
Category 1C \$0.72234 \$0.824 \$0.824 \$0.99547 \$1.135 \$0.89267 \$1.018  Category 2A \$0.74246 \$0.847 \$1.14189 \$1.302 \$0.98867 \$1.127  Category 2B \$0.74246 \$0.847 \$1.95633 \$2.231 \$1.18173 \$1.347  Category 2C \$0.74246 \$0.847 \$0.99547 \$1.135 \$0.91279 \$1.041  W I T H C O M P R E S S I O N N :  Category 3B \$0.58573 \$0.668 \$1.14189 \$1.302 \$0.75340 \$0.8598  Category 3C \$0.58573 \$0.668 \$1.14189 \$1.302 \$0.75340 \$0.8598  Category 3C \$0.58573 \$0.668 \$1.95633 \$2.231 \$0.87760 \$1.001  Category 3C \$0.58573 \$0.668 \$1.95633 \$2.231 \$0.87760 \$1.001  Category 3C \$0.585661 \$0.668 \$1.95633 \$2.231 \$0.87760 \$1.001  Category 3C \$0.585661 \$0.668 \$1.95633 \$2.231 \$0.87760 \$1.001  Category 3B \$0.56561 \$0.668 \$1.14189 \$1.302 \$0.73328 \$0.8368  Category 3B \$0.56561 \$0.645 \$1.14189 \$1.302 \$0.73328 \$0.8368  Category 3B \$0.56561 \$0.645 \$1.14189 \$1.302 \$0.73328 \$0.8368  Category 3B \$0.56561 \$0.645 \$1.14189 \$1.302 \$0.73328 \$0.8368	Category	IA	\$U.72	234	ŞU.	824		ŞI.	1418	9	ŞΙ.	302		\$0.96	0855		ŞI.	104
Category 2A \$0.74246 \$0.847 \$1.14189 \$1.302 \$0.98867 \$1.127 Category 2B \$0.74246 \$0.847 \$1.95633 \$2.231 \$1.18173 \$1.347 Category 2C \$0.74246 \$0.847 \$0.99547 \$1.135 \$0.91279 \$1.041  W I T T H C O O M P R E S S I O N859 Category 3A \$0.58573 \$0.668 \$1.14189 \$1.302 \$0.75340 \$0.859 Category 3C \$0.58573 \$0.668 \$1.95633 \$2.231 \$0.87760 \$1.001 Category 3C \$0.58573 \$0.668 \$1.95633 \$2.231 \$0.73328 \$0.836 Category 3B \$0.56561 \$0.645 \$1.14189 \$1.302 \$0.73328 \$0.836 Category 3B \$0.56561 \$0.645 \$1.95633 \$2.231 \$0.85748 \$0.978	Category	1B	\$0.72	234	\$0.	824		\$1.	9563	3	\$2.	231		\$1.16	5160		\$1.	325
Category 2B \$0.74246 \$0.847 \$1.95633 \$2.231 \$1.18173 \$1.347 \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	Category	1C	\$0.72	234	\$0.	824		\$0.	9954	7	\$1.	135		\$0.89	9267		\$1.	018
Category 2B \$0.74246 \$0.847 \$1.95633 \$2.231 \$1.18173 \$1.347 \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$																		
Category 2C \$0.74246 \$0.847 \$0.99547 \$1.135 \$0.91279 \$1.041  W I T H C O O M P R S1.302 \$0.75340 \$0.8599  Category 3B \$0.58573 \$0.668 \$1.95633 \$2.231 \$0.75340 \$50.8599  Category 3C \$0.58573 \$0.668 \$0.99547 \$1.135 \$0.75340 \$50.8599  Category 3C \$0.58573 \$0.668 \$0.668 \$1.95633 \$2.231 \$0.75340 \$50.8599  Category 3C \$0.58573 \$0.668 \$0.99547 \$1.135 \$0.73521 \$0.8399  W I T T H O U T T C O M P R E S S S I O O N S  Category 3B \$0.56561 \$0.645 \$1.95633 \$2.231 \$0.73328 \$0.8368  Category 3B \$0.56561 \$0.645 \$1.95633 \$2.231 \$0.85748 \$0.8368  Category 3B \$0.56561 \$0.645 \$1.95633 \$2.231 \$0.85748 \$0.8368	Category	2A	\$0.74	246	\$0.	847		\$1.	1418	9	\$1.	302		\$0.98	3867		\$1.	127
W       I       T       H       C       O       M       P       R       E       S       S       I       O       N       :         Category       3A       \$0.58573       \$0.668       \$1.14189       \$1.302       \$0.75340       \$0.859         Category       3B       \$0.58573       \$0.668       \$1.95633       \$2.231       \$0.87760       \$1.001         Category       3C       \$0.58573       \$0.668       \$0.99547       \$1.135       \$0.73621       \$0.839         W       I       T       H       O       U       T       C       O       M       P       R       E       S       S       I       O       N       :         Category       3A       \$0.56561       \$0.645       \$1.14189       \$1.302       \$0.73328       \$0.836         Category       3B       \$0.56561       \$0.645       \$1.95633       \$2.231       \$0.837828       \$0.836	Category	2B	\$0.74	246	\$0.	847		\$1.	9563	3	\$2.	231		\$1.18	3173		\$1.	347
Category 3A \$0.58573 \$0.668 \$1.14189 \$1.302 \$0.75340 \$0.859 Category 3B \$0.58573 \$0.668 \$1.95633 \$2.231 \$0.87760 \$1.001 Category 3C \$0.58573 \$0.668 \$0.99547 \$1.135 \$0.73621 \$0.839  W I T H O U T C O M P R E S S I O N :  Category 3A \$0.56561 \$0.645 \$1.14189 \$1.302 \$0.73328 \$0.836  Category 3B \$0.56561 \$0.645 \$1.95633 \$2.231 \$0.85748 \$0.978	Category	2C	\$0.74	246	\$0.	847		\$0.	9954	7	\$1.	135		\$0.91	1279		\$1.	041
Category 3A \$0.58573 \$0.668 \$1.14189 \$1.302 \$0.75340 \$0.859 \$ Category 3B \$0.58573 \$0.668 \$1.95633 \$2.231 \$0.87760 \$1.001 \$ Category 3C \$0.58573 \$0.668 \$0.99547 \$1.135 \$0.73621 \$0.839 \$  W I T H O U T C O M P R E S S I O N :  Category 3A \$0.56561 \$0.645 \$1.14189 \$1.302 \$0.73328 \$0.836 \$  Category 3B \$0.56561 \$0.645 \$1.95633 \$2.231 \$0.85748 \$0.978																		
Category 3B \$0.58573 \$0.668 \$1.95633 \$2.231 \$0.87760 \$1.001 Category 3C \$0.58573 \$0.668 \$0.99547 \$1.135 \$0.73621 \$0.839  W I T H O U T C O M P R E S S I O N :  Category 3A \$0.56561 \$0.645 \$1.14189 \$1.302 \$0.73328 \$0.836  Category 3B \$0.56561 \$0.645 \$1.95633 \$2.231 \$0.85748 \$0.978	W I	T H	Ι		С	0	M	I	2	R	E	S	S	I		0	N	:
Category 3B \$0.58573 \$0.668 \$1.95633 \$2.231 \$0.87760 \$1.001 Category 3C \$0.58573 \$0.668 \$0.99547 \$1.135 \$0.73621 \$0.839  W I T H O U T C O M P R E S S I O N :  Category 3A \$0.56561 \$0.645 \$1.14189 \$1.302 \$0.73328 \$0.836  Category 3B \$0.56561 \$0.645 \$1.95633 \$2.231 \$0.85748 \$0.978										_								
Category 3C \$0.58573 \$0.668 \$0.99547 \$1.135 \$0.73621 \$0.839  W I T H O U T C O M P R E S S I O N :  Category 3A \$0.56561 \$0.645 \$1.14189 \$1.302 \$0.73328 \$0.836  Category 3B \$0.56561 \$0.645 \$1.95633 \$2.231 \$0.85748 \$0.978	Category	3A	\$0.58	573	\$O.	.668		\$1.	1418	9	\$1.	302		\$0.75	5340		\$0.	859
W       I       T       H       O       U       T       \$0.645       \$1.14189       \$1.302       \$0.73328       \$0.7938       \$0.978         Category       3B       \$0.56561       \$0.645       \$1.95633       \$2.231       \$0.85748       \$0.978	Category	3B	\$0.58	573	\$0.	668		\$1.	9563	3	\$2.	231		\$0.8	7760		\$1.	001
Category 3A \$0.56561 \$0.645 \$1.14189 \$1.302 \$0.73328 \$0.836 Category 3B \$0.56561 \$0.645 \$1.95633 \$2.231 \$0.85748 \$0.978	Category	3C	\$0.58	573	\$0.	668		\$0.	9954	7	\$1.	135		\$0.73	3621		\$0.	839
Category 3A \$0.56561 \$0.645 \$1.14189 \$1.302 \$0.73328 \$0.836 Category 3B \$0.56561 \$0.645 \$1.95633 \$2.231 \$0.85748 \$0.978																		
Category 3B \$0.56561 \$0.645 \$1.95633 \$2.231 \$0.85748 \$0.978	T I W	. Н	O U	Т			С	0	M	P	R	E	S	S	I	0	N	:
Category 3B \$0.56561 \$0.645 \$1.95633 \$2.231 \$0.85748 \$0.978		2-	*0 56	F. 6.1	40	C 4 F		4.4	1 410	^	4-1	200		±0 =	2200		* ^	006
	Category	3A	\$0.56	561	\$0.	645		\$1.	1418	9	ŞI.	302		\$0.75	3328			
Category 3C \$0.56561 \$0.645 \$0.99547 \$1.135 \$0.71609 \$0.817	Category	3B	\$0.56	561	\$0.	645		\$1.	9563	3	\$2.	231		\$0.85	5748		\$0.	978
	Category	3C	\$0.56	561	\$0.	645		\$0.	9954	7	\$1.	135		\$0.73	1609		\$0.	817
Category 4 \$0.74246 \$0.847 \$1.14189 \$1.302 \$0.98867 \$1.127	Category	4	\$0.74	1246	\$0	.847		\$1.	1418	9	\$1.	.302		\$0.98	8867		\$1.	127

STATEMENT TYPE: NGV

STATEMENT TYPE: NGV STATEMENT NO: 5

PAGE: 4

### STATEMENT OF NATURAL GAS VEHICLE RATE

July 1, 1997

# Elmira District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate-		ket Based ling Rate		le Natural icle Rate-	
	per per ( Therm Equiv	Gal. per	per Gal.	per Therm	per Gal. Equivlnt	
Category 1A	\$0.76863	\$0.876	\$1.09803	\$1.252	\$0.93127	\$1.062
Category 1B	\$0.76863	\$0.876	\$1.55306	\$1.771	\$1.15977	\$1.322
Category 1C	\$0.76863	\$0.876	\$0.95103	\$1.084	\$0.85267	\$0.972
Category 2A	\$0.78875	\$0.899	\$1.09803	\$1.252	\$0.95140	\$1.085
Category 2B	\$0.78875	\$0.899	\$1.55306	\$1.771	\$1.17989	\$1.345
Category 2C	\$0.78875	\$0.899	\$0.95103	\$1.084	\$0.87279	\$0.995
W I T	Н	C O M	P R	E S	S I O	N :
Category 3A	\$0.58714	\$0.669	\$1.09803	\$1.252	\$0.76750	\$0.875
Category 3B	\$0.58714	\$0.669	\$1.55306	\$1.771	\$0.87760	\$1.001
Category 3C	\$0.58714	\$0.669	\$0.95103	\$1.084	\$0.68920	\$0.786
W I T F	H O U T	С	O M P	R E	S S I O	и :
Category 3A	\$0.56702	\$0.647	\$1.09803	\$1.252	\$0.74738	\$0.852
Category 3B	\$0.56702	\$0.647	\$1.55306	\$1.771	\$0.85748	\$0.978
Category 3C	\$0.56702	\$0.647	\$0.95103	\$1.084	\$0.66907	\$0.763
Category 4	\$0.78875	\$0.899	\$1.09803	\$1.252	\$0.95140	\$1.085

STATEMENT TYPE: NGV

STATEMENT NO: 5

PAGE: 5

### STATEMENT OF NATURAL GAS VEHICLE RATE

July 1, 1997

# Combined District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

-	Floor Rate-		ket Based ling Rate		le Natural icle Rate-	
	per per ( Therm Equiv	Gal. per	per Gal.	per Therm	per Gal. Equivlnt	
Category 1A	\$0.77238	\$0.881	\$1.13311	\$1.292	\$0.96109	\$1.096
Category 1B	\$0.77238	\$0.881	\$1.55306	\$1.771	\$1.15977	\$1.322
Category 1C	\$0.77238	\$0.881	\$1.01028	\$1.152	\$0.90600	\$1.033
Category 2A	\$0.79250	\$0.904	\$1.13311	\$1.292	\$0.98122	\$1.119
Category 2B	\$0.79250	\$0.904	\$1.55306	\$1.771	\$1.17989	\$1.345
Category 2C	\$0.79250	\$0.904	\$1.01028	\$1.152	\$0.92612	\$1.056
W I T	Н	C O M	P R	E S	S I O	N :
Category 3A	\$0.58714	\$0.669	\$1.13311	\$1.292	\$0.84730	\$0.966
Category 3B	\$0.58714	\$0.669	\$1.55306	\$1.771	\$0.79334	\$0.905
Category 3C	\$0.58714	\$0.669	\$1.01028	\$1.152	\$0.73260	\$0.835
W I T H	T U O	С	О М Р	R E	S S I O	N :
Category 3A	\$0.56702	\$0.647	\$1.13311	\$1.292	\$0.82718	\$0.943
Category 3B	\$0.56702	\$0.647	\$1.55306	\$1.771	\$0.77322	\$0.882
Category 3C	\$0.56702	\$0.647	\$1.01028	\$1.152	\$0.71248	\$0.812
Category 4	\$0.79250	\$0.904	\$1.13311	\$1.292	\$0.98122	\$1.119

STATEMENT TYPE: NGV

STATEMENT NO: 5

PAGE: 6

### STATEMENT OF NATURAL GAS VEHICLE RATE

July 1, 1997

# Champlain District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate		ket Based ling Rate		le Natural icle Rate-	
	per per ( Therm Equiv	Gal. per	per Gal.	per Therm	per Gal. Equivlnt	
	_				_	
Category 1A	\$0.46704	\$0.533	\$1.11119	\$1.267	\$0.94246	\$1.075
Category 1B	\$0.46704	\$0.533	\$1.55306	\$1.771	\$1.15977	\$1.322
Category 1C	\$0.46704	\$0.533	\$0.98436	\$1.122	\$0.88267	\$1.006
Category 2A	\$0.48716	\$0.555	\$1.11119	\$1.267	\$0.96258	\$1.098
Category 2B	\$0.48716	\$0.555	\$1.55306	\$1.771	\$1.17989	\$1.345
Category 2C	\$0.48716	\$0.555	\$0.98436	\$1.122	\$0.90279	\$1.029
W I T	Н	C O M	I P R	E S	S I O	N :
Category 3A	\$0.47907	\$0.546	\$1.11119	\$1.267	\$0.79236	\$0.903
Category 3B	\$0.47907	\$0.546	\$1.55306	\$1.771	\$0.87760	\$1.001
Category 3C	\$0.47907	\$0.546	\$0.98436	\$1.122	\$0.73067	\$0.833
		_				
WITE	H O U T	С	O M P	R E	S S I O	N :
Category 3A	\$0.45895	\$0.523	\$1.11119	\$1.267	\$0.77224	\$0.881
Category 3B	\$0.45895	\$0.523	\$1.55306	\$1.771	\$0.85748	\$0.978
Category 3C	\$0.45895	\$0.523	\$0.98436	\$1.122	\$0.71055	\$0.810
Category 4	\$0.48716	\$0.555	\$1.11119	\$1.267	\$0.96258	\$1.098